Time value of money Answers to Exam Questions


1. The correct answer is option 3


					        	= 3000 X 9,818
						= 29454,00

2. The correct answer is option 3
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						= 4000 X 6,742
						= 26 968

					26 968 – 10 000 = 16 968



						= 16 968 X 1,611
						= 27335,4


3. The correct answer is option 3



= 2000 X (6,105 X 1,12)
						= 2000 X 6,8376
						= 13675,2

13675,2 – 2210,22 = 11464,98


						= 11464,98 X 1,24
						= 14216,58



4. The correct answer is 2


						= 1700 X 0,54
						=918
5. The correct answer is 1


					= 2000 X 0,247
					= 494

6. The correct answer is 1

						= 2000 X 0,386
						= 772
7. The correct answer is 3

						= 5000 X 0,494
						=2470
8. The correct answer is 1


						= 3 600 X 20,304
						= 73 094,40



9. The correct answer is 2

Year 1 					
						= 100 X 1,405
						= 140,5

Year 2					
						= 200 X 1,254
						= 250,8

Year 3					
						= 300 X 1,120
						= 336

336 + 250,8 + 140,5 = 727,3

10. The correct answer is 1


Year 1 					
						= 5 000 X 0,8
						= 4 000

Year 2					
						= 25 000 X 0,64
						= 16 000

Year 3					
						= 14 000 X 0,512
						= 7 168

				7168 + 16 000 + 4 000 = R27 168



11. The correct answer is 4

Year 1 					
						= 5 000 X 1,953
						= 9 765

Year 2					
						= 25 000 X 1,953
						= 39 050

Year 3					
						= 14 000 X 1,25
						= 17 500

				17 500 + 39 050 + 9 765= R66 315

12. The correct answer is 12

Year 1 					
						= 3 000 X 1,602
						= 4 806

Year 2					
						= 6 000 X 1,369
						= 8 214

Year 3					
						= 9 000 X 1,17
						= 10 530

				4 806 + 8 214 + 10 530= R23 550





13. The correct answer is 3





14. The correct answer is 3






15. The correct answer is 3


16. The correct answer is 4


17. The correct answer is 2









18. The correct answer is 3













19. The correct answer is 4







20. The correct answer is 1







21. The correct answer is 3








22. The correct answer is 1











23. The correct answer is 2








24. The correct answer is 3





Therefore 

25. The correct answer is 2




Therefore 




26. The correct answer is 4









7 years

In the FVIF table look for 1,828 under 9% interest and you will see that the period that matches is 7 years
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